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Activity 2051. Implement Class & Methods Definition

1) Class definition

class Account

Type class
Name Account
Purpose HE HE2E 205 2adA

Overview(class)

Attribute : accountNum, Bank

Method : Account(), getBank(), getAccountNum(), getBalance(),
checkPassword(), transaction(), getLogs(), getCriminalLogs() £
XD UL

CrossReference

UseCase:R2.1,R3.1,R3.3,R41,R42,R43,R44,R51,
R52,R53,R54,R55

Exceptional Courses | N/A
of Events
calss ATMSystem
Type class
Name AtmSystem
Purpose ATM EE2E R20t5= 2d2

Overview(class)

Attribute : Bank own, Account src, Account des, amount, fee, banks,
transaction

Method : AtmSystem(), tansaction(), checkBalance(),
checkPassword(), deposit(), withdraw(), transfer(), getLogs(),
getCriminalLogs(), getTransaction(), setSrv(), validateSrc(),
setDes(), validateDes(), setAmount(), findAccount()

CrossReference UseCase:R1.1,R21,R31,R32,R33,R41,R42,R43,R
44, R51,R52,R53,R54,R55 R6.1
Exceptional N/A
Courses of Events
class Bank
Type class
Name Bank




Purpose Bank 822 205= ZdA

Overview(class) Attribute : name, path
Method : Bank(), fileReader(), validateAccount(),
checkPassword(), getBalance(), transaction(), getLogs(),
getCriminalLogs()

CrossReference UseCase:R3.1,R3.3,R51,R52,R53, R54,R5.5

Exceptional Courses N/A

of Events

2) Method Definition
class Account

Type Method

Name Account()

Purpose Account 2| 2HX| 24 A& SHCt

CrossReference UseCase:R2.1,R3.1,R3.3,R4.1,R4.2,R43,R44, R

51,R52,R53,R54,R55

Input(Method) String accountNum, Bank bank

Output(Method) -

Abstract Account 2| ZXIE A& EHLT.

Operation(Method)

Exceptional Courses of -

Events

Type Method

Name getBank()

Purpose Account 2| A= bank € =I5t
CrossReference Use Case R4.4

Input(Method) -

Output(Method) Bank bank

Abstract Operation(Method) account.bank £ gtatstCt.
Exceptional Courses of Events | -




Type Method

Name getAccountNum

Purpose Account 2| H XS E =QIGHCEH
CrossReference Use Case

Input(Method) -

Output(Method) String accountNum

Abstract Operation(Method) account.accountNum & g+&tstC,

Exceptional Courses of Events

Type Method

Name getBalance

Purpose HE &oHE =ISHT,
CrossReference Use Case

Input(Method) -

Output(Method) int bank.getBalance(account: this)

Abstract Operation(Method)

bank DB 0l Al balance E =212}

"I st

[

=l

Ct.

Exceptional Courses of Events

Type Method

Name checkPassword()

Purpose HIYHSIOt K S8Rl & 0IStC.
CrossReference Use Case

Input(Method) String pw

Output(Method)

boolean bank.checkPassword(account: this, pw)




Abstract Operation(Method)
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bankDB Ol A H| &

Exceptional Courses of Events

Type Method

Name transaction()

Purpose He(E3/1E23/153)

CrossReference Use Case

Input(Method) int amount, Sting msg

Output(Method) bank.transaction(account: this, amount, msg)

Abstract Operation(Method) | Ol H XM amount 82 HeHStL] log Ol msg £
X & etCh.

Exceptional Courses of -

Events

Type Method

Name getLogs()

Purpose HeHWHSE =S A 3|StCh

CrossReference Use Case :

Input(Method) -

Output(Method) ArrayList<String> bank.getLogs(account: this)

Abstract Operation(Method)

oS HZE2 log E BHEHSHCH.

Exceptional Courses of Events

Type Method

Name getCriminalLogs()
Purpose HX0/EE 2|etlh.
CrossReference Use Case




Input(Method)

Output(Method)

ArrayList<String> bank.getCriminalLogs(account: this)

Abstract Operation(Method)

Bt

—

Hor
i
rig

JHESl A oD Ha BHC,

Exceptional Courses of Events

class ATMSystem

Type Method

Name AtmSystem()

Purpose AtmSystem 2| 24X E A& BHCH.

CrossReference UseCase:R1.1,R21,R3.1,R3.2,R3.3,R41,R42, R
43,R44,R51,R52,R53,R54,R55 R6.1

Input(Method) Bank own

Output(Method) -

Abstract AtmSystem 2| 24X E A& BHCH.

Operation(Method)

Exceptional Courses of | -

Events

Type Method

Name transaction()

Purpose 0l8e MHIAE SE4SHC
CrossReference Use Case R 1.1
Input(Method) -

Output(Method) -

Abstract Operation(Method)

x
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|>
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x
02
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ml

button 20| 2t HEHS

Exceptional Courses of Events

Type

Method




Name checkBalance()

Purpose HE &DIF 23 £= 538 sWULL 22X
& OIBHCE

CrossReference Use Case: R5.2R.5.3

Input(Method) -

Output(Method) boolean (amount + fee) < arc.getBalance()

Abstract Operation(Method) amount + fee 2t src.balance £ H| st ZUE BtetstCY,

Exceptional Courses of -

Events

Type Method

Name checkPassword

Purpose HZHSE & 0I6tCH.

CrossReference Use Case

Input(Method) String pw

Output(Method) boolean src.checkPassword(pw);

Abstract Operation(Method) | /236t UL SOt src 2| HIZHS 2 2XISt=X
S OIBHCE

Exceptional Courses of -

Events

Type Method

Name deposit()

Purpose src Al 20l & =8t

CrossReference Use Case R5.1

Input(Method) -

Output(Method) -




Abstract
Operation(Method)

H %2l balance € amount - fee 2+2 SItAII| 1] log Ol
msg & oS JHciHES LOI0IESHT

Exceptional Courses of
Events

Type Method

Name withdraw()

Purpose src OllA == 8tCH.

CrossReference Use Case R 5.2

Input(Method) -

Output(Method) -

Abstract H %2 balance € amount + fee 2t 2FA Al 12 log Of
Operation(Method) msg 2 oY HcHUiES & UI0IESHT

Exceptional Courses of
Events

Type Method

Name transfer()

Purpose src M des 2 &38tCH.

CrossReference Use Case 5.3

Input(Method) -

Output(Method) -

Abstract src HI %2 balance € amount + fee 0t 2t A Al9| 12 log Of
Operation(Method) msg &t olE HllHES O0IEST

des H %S| balance € amount 22 SJtAIZ112 log Ol
msg 2 Y HeHlHES SU0IESHT

Exceptional Courses of
Events

Type

Method




Name getLogs()

Purpose HE HHWUHSEES 3l

CrossReference Use Case 5.4

Input(Method) -

Output(Method) String[][] contents

Abstract Operation(Method) oiE HXS HeHWHSE contents £ BHEHSHLE.
Exceptional Courses of Events | -

Type Method

Name getCriminalLogs()

Purpose HA WG S XA3IStC

CrossReference Use Case 5.5

Input(Method) -

Output(Method) String[][] contents

Abstract Operation(Method) oY HXES HEAWS contents E BHEFSHCE.

Exceptional Courses of Events | -

Type Method

Name setTransaction()

Purpose 0l8e MHEIAE SEdSHCE
CrossReference Use Case R 1.1
Input(Method) String transaction
Output(Method) -

Abstract Operation(Method)

String transaction & 2= 20t AtmSystem 2|
transaction = Al & &tLCt.

O

Exceptional Courses of
Events

Type

Method




Name getTransaction()

Purpose M 0l MHIAE BHatEHCH
CrossReference Use Case R 1.1
Input(Method) -

Output(Method) String Transaction

Abstract Operation(Method) ST transaction = BretstL}.
Exceptional Courses of Events | -

Type Method

Name setSrc()

Purpose ol2g HXME NE ST
CrossReference Use Case

Input(Method) String accountNum
Output(Method) -

Abstract Operation(Method)

findaccount(accountNum)2| ZtE this.src Ol
JSESESl S

Exceptional Courses of
Events

Type Method

Name validateSrc()

Purpose src X2 R4S =0IsHC
CrossReference Use Case

Input(Method) -

Output(Method) boolean src !'= null

Abstract Operation(Method)

src H A2 |KE4A0 2 boolean

Exceptional Courses of Events




Type Method

Name setDes

Purpose 3 & HHE MEStCH
CrossReference Use Case

Input(Method) String accountNum
Output(Method) -

Abstract Operation(Method)

findaccount(accountNum)2| Z Bt this.des 0l
XM & etCh.

Exceptional Courses of
Events

Type Method

Name validateDes()

Purpose des A2 RedsS =QI6H.
CrossReference Use Case

Input(Method) -

Output(Method) boolean des != null

Abstract Operation(Method) des H &2l R&&0l [t boolean gt= EHatstLt.
Exceptional Courses of Events | -

Type Method

Name setAmount()

Purpose MBlA 018 WS ME S
CrossReference Use Case

Input(Method) int amount

Output(Method) -

Abstract Operation(Method) this.amount 0l amount gt X & &tCt.
Exceptional Courses of Events | .-




Type Method

Name findAccount()

Purpose 2t pbank DB 0l account Jt ZXlot=Xl &=L
CrossReference Use Case

Input(Method) String AccountNum

Output(Method) Account ret

Abstract 2! bank DB Ol accountNum & Z MGt ETHotH
Operation(Method) ret 2 BtasHC},

Exceptional Courses of
Events

OF —
[ = y—

% bank DB | & Z=XHotAl accountNum 2| &2

class Bank
Type Method
Name Bank()
Purpose Bank 2| XIS M AStCtH
CrossReference Use Case
Input(Method) String name
Output(Method) -

Abstract Operation(Method)

Bank 2| A XE 448

Exceptional Courses of Events | -

Type Method

Name fileReader()

Purpose ez 2H F32E AW =201
CrossReference Use Case R5.4,R5.5
Input(Method) String path

Output(Method)

AttrayList<String> lines




Abstract Operation(Method)

ez 4EE logE A2

Exceptional Courses of Events

path Ot S2HIE2X| 22 Al Error

Type Method

Name validateAccount()

Purpose H Ot s&etAl QIS

CrossReference Use Case

Input(Method) String accountNum

Output(Method) Account ret

Abstract bank DB 0l accountNum Ol ZMot=Xl &Ql6t) EXHotH
Operation(Method) HE HEZ BHasiCt

Exceptional Courses of bank DB 0l accountNum Ol EXict=Xl & Ql6t]) EHGHA]
Events HOH™ null & EHatSHCH

Type Method

Name checkPassword()

Purpose HXCl HIZH SO LXIot=Rl = eleHC
CrossReference Use Case

Input(Method) Account account, String password

Output(Method) boolean pw.equals(password)

Abstract account 2| HIZ 1S 2 =St password It L Xlot=Xl
Operation(Method) 2015t 1) boolean 242 EHEHEHC

Exceptional Courses of -

Events

Type Method

Name getBalance()

Purpose H XS &MS =OISHLY.




CrossReference Use Case R 5.1, 5.3

Input(Method) Account account

Output(Method) int balance

Abstract Operation(Method) account 2 balance £ Br&t&HCH.

Exceptional Courses of Events | -

Type Method

Name transaction()

Purpose Hell MBIAE Al st

CrossReference Use CaseR1.1,R5.1,R52,R53

Input(Method) Account account, int amount, String msg

Output(Method) -

Abstract Operation(Method) | account 2| log It 0l Hell Al2t, HEHE, Hel RE2
JIZ ettt

Exceptional Courses of -

Events

Type Method

Name getLogs()

Purpose Hellhgs = 6tl.

CrossReference Use Case R 5.4

Input(Method) Account account

Output(Method) ArrayList<String> this.fileReader(path)

Abstract Operation(Method) account 2| HHUWSY 20t ES A2 BHEtSHCE

Exceptional Courses of Events | -

Type Method




Name getCriminalLogs()

Purpose HellLfE S =60
CrossReference Use Case R 5.5

Input(Method) Account account

Output(Method) ArrayList<String> this.fileReader(path)

Abstract Operation(Method)

account 2| 81Xl 0| 21t =2 AH

e
righ
o

Exceptional Courses of Events

Type Method

Name getName()

Purpose 282l 0|18= &oletlt
CrossReference Use Case

Input(Method) -

Output(Method) -

Abstract Operation(Method)

e
righ
ro
Q

Bank 2| name 2

Exceptional Courses of Events

Activity 2052. Implements Windows




i GUI ATMSystem

i
!
i
1: selectMenu() I i
i
i
i i
i i
i i
i i
' y
alt [Select == deposit] '
i
i 2: exeDeposit()
!
i
i i
i i
e N e e
[} i
i i
i i
i [Select == withdraw] i
i
i 3. exeWithdraw({)
!
i i
_____ :________________________________ ______________________________JI.__________________
i i
i i
i i
! [Select == Transfer] {
i
i
i 4: exeTransfer()
i
i i
i i
_____ b e e e | e e e e e e s ]
i i
i i
i i
i [Select == checkTransadtipnHistory] i
i
i 3. exeCheckTransactionHistory()
i
i i
i i
R N b ecmmemem
i i
i i
i i
i [Select == checkCriminalHjstory] i
i i
i 6. exeCheckCriminalHistory()
i
i
..... :................................ ..............................:..................
! [else '
i i
: i
7 alert() i
!
i
i o 3 i
i i i
H : .
i i i
i i i
Name SelectMenu
Type GUI
Responsibilities 2g, =25, 55 2, 8z0/8 HE F StLIE FEChL
Cross Reference R 1.1
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ATMSystem

Bank

i Retstee
i i
M i
|:‘| selectMenu() i
|
J i
exeDeposit()
Deposifview()
w
[] inputMediumi) il
sendMediumDatal)
™ validateAccount()
requesticcount]) =
i
createAccount
______________
i
i
|
_______ acroumiShle; .. J ﬂ
[ o s s OOOTBISUE oo e
EY
break ) [accountState == Notvalid]
[4 Bl RO
|:1 alert()
H insertMoney()
]
|:'| inputPassword()
J checkPassword(String)
B checkPassword(Account, String)
|
| (- o
| T
| | requestPasswordData()
i ; ;
| i |
i i Checkpw
i r .
I Checkpw
|
| |
Dreak) [Checkpw ==Tfalze] ()] emor_ . R
alert()
T process(deposit)
E L transaction({deposit) N
1 |
| |
| i getBalance()
| |
E E s updateData() _|—
H H H LT
| | |
i L e 8 L e
| |
' i
ResulfView()
result

Name

DepositView




Type GUI
Responsibilities a2 Ast= 2tHO|CE

Cross Reference R 5.1

Notes gas Tddt= 2O}
Post-Condition AZte| HEHSE YT = ATt
Pre-Condition 23 HES FE oH0|0oF oot
Name inputMedium

Type GUI

Responsibilities

oMol AxE Y = UL

Cross Reference

Notes

Post-Condition

Pre-Condition

Name

alert “Invalid Account”

Type

GUI

Responsibilities

AzZF w=2oHA S

mjo
ne
r
o

Cross Reference

R 31
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selectMenu()

exeWithdraw()

ATMSystem

Jesamsneses

WithdrawView()

b---

inputMedium()

sendMediumData()

validateAccount()

‘Bank

accouniSiale

requestAccount()

L

accouniSiate

‘Account

createAccount

| =)

break ) [accountState == Notvalid]

alert()

insertAmount

checkBalance()

[t

alert()

L

break ) [CheckBalance()== false]

inputPassword()

checkPassword(String)

L—“—‘

checkPassword(Account, String)

[

Checkpw

break )

[Checkpw == false]

alert()

process(withdraw)

IS S

ResulfView()

transaction{withdraw)

requestPasswordData()
T

|
|
Checkpw

getBalance()

updateData()

log

result




Name WithdrawView

Type GUI

Responsibilities a2 Udst= OO
Cross Reference R5.2

Notes a2 UdSt= 2EHO|C)

Post-Condition

Pre-Condition

Name inputMedium

Type GUI

Responsibilities oixd el AZE Y™ = UL
Cross Reference R 2.1

Notes

Post-Condition

Pre-Condition

Name

alert “Invalid Account”

Type

GUI

Responsibilities

Azt QBB

e
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mjo
)
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H selecthenu() |

ATMSystem

exeTransfer()

TransferView()

%1

[ inputMedium()

ndMediumDala()

validateAccount()

Bank

accountState

reguestAccount()

DataBase

(I

seq

break [accountState == NotValid]
B alert) L

.

r insertAmount H
inputAccount H
sendAccountData()
! Ll validateAccount()
i L requesticcount()
i : - ;
i i i ereateTransferaccount |
H H TransferAccountState
: Tl Eemstecacoountslale. o
: 16: checkBalance()
alert() H
H inputPassword() H
checkPassword(String) H
2 H checkPassword(Account. String)
H requestPasswordData()
N O Checkaw
break ) [Checkpw == false] error i
alert() i
| M process{Transfer) i
transaction(Transfer)
getBalance()
updateData()
H log
ResultView() :
result u
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Activity 2055. Write Unit Test Code

-ActivateTest

public class Activate {
public int activate() {
String flag = "";
Scanner scanner = new Scanner(System.in);
while(!flag.equals("N")) {
selectMenu();
System.out.println{"Complete selectMenu()");
do {
System.out.println("Continue? (¥Y/N)");
flag = scanner.nextlLine();
Jwhile(!flag.equals("Y") && !flag.equals("N"));

if(flag.equals("Y")) m
return 1;
i

h

return 2;

h

public void selectMenu() {

}
)

class ActivateTest {

@Test

void testActivate 1() {
Activate Acti = new Activate();
int x = Acti.activate();
assertEquals(1l, x);

}

@Test

void testActivate 2() {
Activate Acti = new Activate();
int x = Acti.activate();
assertEquals(2, x);



-SelectmenuTest

public class SelectMenu {
public int selectMenu() {

Scanner scanner = new Scanner(System.in);
System.out.print("Select task progress : "};
int menu = scanner.nextInt();

switch(menu) {

case 1 :
deposit()};
return 1;

case 2:
withdraw();
return 2;

case 3:
transfer();
return 3;

case 4:
checkTransactionHistory()};
return 4;

case 5:
checkCriminalHistory();
return 5;

default:
System.out.println("invalid access");
return 6;



ctlass SelectMenuTest {

@Test

void testSelectMenu_1() {
SelectMenu Sele = new SelectMenu();
int result = Sele.selectMenu();
assertEquals(1l, result);

}

@Test

void testSelectMenu_2() {
SelectMenu Sele = new SelectMenu();
int result = Sele.selectMenu();
assertEquals(2, result);

}

@Test

void testSelectMenu_3() {
SelectMenu Sele = new SelectMenu();
int result = Sele.selectMenu();
assertEquals(3, result);

}

@Test

void testSelectMenu_4() {
SelectMenu Sele = new SelectMenu();
int result = Sele.selectMenu();
assertEquals(4, result);

@Test

void testSelectMenu 5() {
SelectMenu Sele = new SelectMenu();
int result = Sele.selectMenu();
assertEquals(5, result);

h

@Test

void testSelectMenu_6() {
SelectMenu Sele = new SelectMenu();
int result = Sele.selectMenu();
assertEquals(6, result);

-FindAccountTest



public class FindAccount {
public int findAccount(String accountMum) {
J//for (Bank bank : banks) {
Bank bank = new Bank();
Account ret = bank.validateAccount(accounthum);
if (ret != null) {
return 1;

I}

System.out.println("invalid account"};
return 2;

h

class FindAccountTest {

@Test

void testFindAccount 1() {
FindAccount Fa = new FindAccount();
int result = Fa.findAccount("1234");
assertEquals(1, result);

}

@Test

void testFindAccount 2() {
FindAccount Fa = new FindAccount();
int result = Fa.findAccount("1256");
assertEquals(2, result);

}

@Test

void testFindAccount 3() {
FindAccount Fa = new FindAccount();
int result = Fa.findAccount("12566");
assertEquals(2, result);

1

-InputMediumTest

public class FindAccount {
public int findAccount(String accountMum) {
J//for (Bank bank : banks) {
Bank bank = new Bank();
Account ret = bank.validateAccount(accounthum);
if (ret != null) {
return 1;

I}

System.out.println("invalid account"};
return 2;



class FindAccountTest {

@Test

void testFindAccount 1() {
FindAccount Fa = new FindAccount();
int result = Fa.findAccount("1234");
assertEquals(1l, result);

}

@Test

void testFindAccount_2() {
FindAccount Fa = new FindAccount();
int result = Fa.findAccount("1256");
assertEquals(2, result);

}

@Test

void testFindAccount _3() {
FindAccount Fa = new FindAccount();
int result = Fa.findAccount("12566");
assertEquals(2, result);

1

-inputAccountTest

public class InputAccountNum {
public int inputhAccount() {
Scanner scanner = new Scanner(System.in);
System.out._print("input AccountNum: ");
String accounthum = scanner.nextlLine();
Account ret = new Account();
ret = findAccount(accounthum);

if(ret != null) {
return 1;
lelse {
return 2;

}



class InputAccountMumTest {

@Test

void testInputAccount 1() {
InputAccountium IA = new InputAccountNum();
int result = IA.inputAccount();
assertEquals(1, result);

}

@Test

void testInputAccount 2() {
InputAccountium IA = new InputAccountNum();
int result = IA.inputAccount();
assertEquals(2, result);

-depositTest

:lass DepositTest {

@Test

void testDeposit 1() {
Deposit D = new Deposit();
int result = D.deposit();
assertEquals(1, result);

}

@Test

void testDeposit 2() {
Deposit D = new Deposit();
int result = D.deposit();
assertEquals(2, result);

}

@Test

void testDeposit 3() {
Deposit D = new Deposit();
int result = D.deposit();
assertEquals(3, result);



public class Deposit {
public int deposit() {
Account src = inputMedium(); //src==null 2%#< exception
if (src == null) { //!
return 1;

}

//Bank bank = src.getBank();

String pw = inputPassword();

if (!pw.equals("1111")) { //!
return 2;

}

int amount = insertCash();

System.out.println("bank.transaction complete
f//bank.transaction(src,amount, "deposit");

+ amount);

System.out.println("deposit complete™);
f/this_printReceipt("deposit",amount,bank.getBalance(src));

return 3; //!

-withdrawTest

public int withdraw(){
Account src = inputMedium();
if (src == null) {
return 1; //! 1

¥
//Bank bank = src.getBank();

String pw = inputPassword();

if (!pw.equals("1111")) {
return 2; //! 2

¥

int amount = insertAmount();

f/1if (!bank.transaction(src,amount * -1,"withdraw")) {
if(!transaction(amount)){

return 3; //! 3
¥

f/this._printReceipt("withdraw",amount,bank.getBalance(src));
System.out.println("Complete withdraw " + amount);

return 4; //!
}



@Test

void testWithdraw 1() {
Withdraw W = new Withdraw();
int result = W.withdraw();
assertEquals(l, result);

h

@Test

void testWithdraw 2() {
Withdraw W = new Withdraw();
int result = W.withdraw();
assertEquals(2, result);

h

@Test

void testWithdraw 3() {
Withdraw W = new Withdraw();
int result = W.withdraw();
assertEquals(3, result);

h

@Test

void testWithdraw 4() {
Withdraw W = new Withdraw();
int result = W.withdraw();
assertEquals(4, result);

-TransferTest



public int transfer() {

Account src = inputMedium();

if (src == null) {
return 1; //! 1

¥

//Bank srcBank = src.getBank();

String pw = inputPassword();

if (!pw.equals("1111")) {
return 2; //!2

¥

Account des = inputAccount();
if (des == null) {

return 3; //!3
¥

//Bank desBank = des.getBank();

int amount = insertAmount();
//it (!lsrcBank.transaction(src,amount * -1,"transfer to " + des.getAccounthum(})) {
if(!transaction(amount)){

return 4; //!4

h

//desBank.transaction(des,amount, "transfer from " + src.getAccountMum());
//this . printReceipt("transfer",amount,srcBank.getBalance(src));
System.out.println("Complete Transfer");

return 5;



void testTransfer_1() {
Transfer T = new Transfer();
int result = T.transfer();
assertEquals(1l, result);

}

@Test

void testTransfer_2() {
Transfer T = new Transfer();
int result = T.transfer{m;
assertEquals(2, result);

}

@Test

void testTransfer 3() {
Transfer T = new Transfer();
int result = T.transfer();
assertEquals(3, result);

}

@Test

void testTransfer_4() {
Transfer T = new Transfer();
int result = T.transfer();
assertEquals(4, result);

}

@Test

void testTransfer 5() {
Transfer T = new Transfer();
int result = T.transfer();

CheckTransactionHistoryTest

public class CheckTransactionHistory {
public int checkTransactionHistory() {
Account src = inputMedium();
if (src == null) {
return 1; //!1
¥
//Bank bank = src.getBank();
//bank.showlLogs(src);
System.out.println("Complete CheckTransactionHistory");
return 2;//12



class CheckTransactionHistoryTest {

@Test

void testCheckTransactionHistory 1() {
CheckTransactionHistory CT = new CheckTransactionHistory();
int result = CT.checkTransactionHistory();
assertEquals(l, result);

h

@Test

void testCheckTransactionHistory 2() {
CheckTransactionHistory CT = new CheckTransactionHistory();
int result = CT.checkTransactionHistory();
assertEquals(2, result);

1

-CheckCriminalHistoryTest

public class CheckCriminalHistory {
public int checkCriminalHistory() {
Account src = inputAccount();
if (src == null) {
return 1; //!1
¥
J//Bank bank = src.getBank()};
//bank.showLogs(src);
System.out.println("Complete CriminalHistory");
return 2;//!2

h

public Account inputhAccount() {
Scanner scanner = new Scanner(System.in);
System.out.print("input AccounthMum: ");
String accountMum = scanner.nextLine();
Account ret = new Account();
ret = findAccount(accountium);

return ret;

@Test

void testCheckCriminalHistory 1() {
CheckCriminalHistory CT = new CheckCriminalHistory();
int result = CT.checkCriminalHistory();
assertEquals(l, result);

h

@Test

void testCheckCriminalHistory 2() m
CheckCriminalHistory CT = new CheckCriminalHistory();
int result = CT.checkCriminalHistory();
assertEquals(2, result);



-filereaderTest

public class FileReader {

public int fileReader() {
f/File file = new File();
System.out.println("File");
J/ ArrayList<String> lines = new ArrayList<>();
System.out.println("ArrayList");
try {
//FileReader reader = new FileReader(file);
System.out.println("FileReader");
//BufferedReader bufferedReader = new BufferedReader(reader);
System.out.println("bufferedReader™);
//5tring line;
f/while((line = bufferedReader.readline())} != null) {
I/ lines.add(line);
/1Y
System.out_println("add line");
} catch (Exception e) {
e.printStackTrace();
¥

return 1;

¥
class _FileReaderTest {

@Test

void test_fileReader() {
_FileReader F = new _FileReader();
int result = F._fileReader();
assertEquals(l, result);

-validateAccountTest

public class ValidateAccount {
public Account validateAccount(boolean exist) {
f/String path = this.path + "/" + accountNum;
f/File file = new File(path);
if(exist) {
Account ret = new Account();
return ret;

} else {
return null;



class ValidateAccountTest {

@Test

void testValidateAccount 1() {
ValidateAccount va = new ValidateAccount();
assertNotNull(va.validatefAccount(true));

h

@Test

void testValidateAccount 2() {
ValidateAccount va = new ValidateAccount();
Account result = va.validateAccount(false);
assertEqguals(null, result);

1

checkPasswordTest

wblic class Checkpassword {
public boolean checkPassword(String password) {
//String path = this.path + "/" + account.getAccountNum() + "/password.txt";
//5tring pw = this.fileReader(path).get(0);
String pw = "1111";
return pw.equals(password);

class CheckpasswordTest {

@Test

void testCheckPassword 1() {
Checkpassword cp = new Checkpassword();
boolean result = cp.checkPassword("1234");
assertEquals(false, result);

¥
@Test
void testCheckPassword 2() {

Checkpassword cp = new Checkpassword();
assertTrue(cp.checkPassword("1111"));

B

-getBalanceTest



public class GetBalance {
public int getBalance(int size) {
f/ArrayList<String> logs = this.getlogs(account);
if (size == 8) {
return 1;
¥
f/String lastlog = logs.get(logs.size()-1);
//String balance = lastlog.split(";")[3];
f/return Integer.parselnt(balance);
return 2;

class GetBalanceTest {

@Test

void testGetBalance 1() {
GetBalance gb = new GetBalance();
int result = gh.getBalance(®);
assertEquals(1, result);

}

@Test

void testGetBalance 2() {
GetBalance gb = new GetBalance();
int result = ghb.getBalance(3);
assertEquals(2, result);

transactionTest

public class Transaction {

public boolean transaction(int amount) {
//int balance = this.getBalance(account);
if(amount < @) {
return false;
}
//Date cur = new Date();
//5impleDateFormat dateFormat = new SimpleDateFormat("yyyy-MM-dd hh:mm:ss");
//5tring date = dateFormat.format(cur);
//5tring log = date + ";" + msg + ";" + amount + ";" + (balance + amount) + "\n";
//File logFile = new File(this.path + "/" + account.getAccountNum() + "/log.txt");
try {
J/FileWriter writer = new FilelWriter(logFile,true);
Jf/writer.write(log);
Jffwriter.flush();
f/writer.close();
System.out.println({"Filewrite");
} catch (Exception &) {
e.printStackTrace();
¥

return true;



class TransactionTest {

@Test
void testTransaction 1() {
Transaction t = new Transaction();
assertEquals(false, t.transaction(-1808));
¥

@Test

void testTransaction 2() {
Transaction t = new Transaction();
assertTrue(t.transaction(1008));

1

getLogsTest

public int getlogs() {
//String path = this.path + "/" + account.getAccounthum() + "/log.txt";
System.out.println("path");
J//return this.fileReader(path);
System.out.println("fileReader");
return 1;

class GetlogsTest {

@Test

void testGetlogs() {
Getlogs gl = new Getlogs();
int result = gl.getlogs();
assertEquals(1, result);

-showlLogsTest

public class Showlogs {
public int showlLogs() {
f/for (String log : this.getlogs(account)) {
/i System.out.println{log);
11}
System.out.println("showlogs");
return 1;



class ShowlogsTest {

@Test

void testShowlogs() {
Showlogs s1t = new ShowlLogs();
int result = slt.showlogs();
assertEquals(1, result);

Activity 2061. Unit Testing
-ActivateTest

Runs: 2/2 BErrorss 0 B Failuress 0
I

~ [t ActivateTest [Runner: JUnit 5] (7.760 s)
testActivate_10) (5.340 <)
LBl testActivate 2() (2.420 s)

-SelectmenuTest

Runs. 6/6 B Errors: 0 8 Failures. 0

~ Hil SelectMenuTest [Runner: JUnit 5] (13.258 s)
testSelectMenu_1() (1.684 s)
el testSelectMenu_2(0) (2.858 s)
testSelectMenu_3() (2.230 )
el testSelectMenu_4Q) (2.117 )
testSelectMenu_5() (2.540 s)
tEl testSelectMenu_6() (1.829 )

-FindAccountTest

Runs: 3/3 BEmorss 0 B Failuress 0
I

~ it FindAccountTest [Runner: JUnit 5] (0.00C
tel testFindAccount_1() (0.000 s)
¢l testFindAccount_2¢) (0.000 )
tel testFindAccount_3() (0.000 s)




-InputMediumTest

Runs: 2/2 BErrorss 0 B Failuress 0
|

vt InputMediumTest [Runner: JUnit 5] (11.€
g&] testinputMedium_1Q) (8.754 s)
testinputMedium_2() (3.203 5)

-inputAccountTest

Runs: 2/2 BErrorss 0 B Failuress 0
I

v fit] InputAccountMumTest [Runner: JUnit 5]
testinputAccount_1() (7.020 =)
ge] testinputAccount_2() (2.941 )

-depositTest

Runs: 3/3 B Errors: 0 B Failures: 0

~ |Eit] DepositTest [Runner: JUnit 5] (24.621 s)
tel testDeposit_1() (7.157 s)
tel testDeposit_2() (6.981 s)
tel testDeposit_3() (10483 g)

withdrawTest

Runs 4/4 B Errors: 0 B Failures: 0

~ fe WithdrawTest [Runner: JUnit 5] (44.183 5)
testWithdraw_1( (7.905 s)
el testWithdraw_20 (7.012 9
testWithdraw_3() (14.357 s)
¢l testWithdraw_ 40 (14.909 )

TransferTest



Runs: 5/5 8 Errors: 0 B Failures: 0
|

 tit] TransferTest [Runner: JUnit 5] (60.183 s)
Ul testTransfer 10 (7.329 5
tel testTransfer_2() (7.242 s)
Ul testTransfer 30 (17.049 5)
tel testTransfer_4() (17.910 s)
Ul testTransfer 50 (10,653 5)

CheckTransactionHistoryTest

Runs. 2/2 8 Errors: 0 8 Failures. 0
|

v il CheckTransactionHistoryTest [Runner: JUnit 5] (5.368 s)
gl testCheckTransactionHistory 10 (3.709 5
testCheckTransactionHistory_2() (1.659 <)

CheckCriminalHistoryTest

Runs. 2/2 8 Errors: 0 8 Failures. 0

v il CheckCriminalHistoryTest [Runner: JUnit 5] (9.609 s)
gl testCheckCriminalHistory 10 (6.742 )
testCheckCriminalHistory_20) (2.867 s

filereaderTest

Runs: 1/1 8 Errors: 0 8 Failures. 0
.

~ titl _FileReaderTest [Runner: JUnit 5] (0.254 )
tEl test fileReader() (0.254 5)

-validateAccountTest



Runs 2/2 B Errors: 0 B Failures: 0

~ fil ValidateAccountTest [Runner: JUnit 5] (0.000 s)
tEl testValidateAccount_10) (0.000 <)
il testvalidateAccount_2() (0.000 s)

-CheckpasswordTest

Runs: 2/2 8 Errors: 0 B Failures: 0

ikl CheckpasswordTest [Runner: JUnit 5] (0.000 s)
il testCheckPassword_1() (0.000 )
tEl testCheckPassword_20) (0.000 <)

-getBalanceTest

Runs. 2/2 8 Errors: 0 B Failures: 0

~ Ht GetBalanceTest [Runner: JUnit 5] (0.011 s)
Bl testGetBalance_10) (0.005 s)
tEl testGetBalance_2() (0.006 <)

-transactionTest

Runs. 2/2 8 Errors: 0 8 Failures. 0

~ HH TransactionTest [Runner: JUnit 5] (0.000 s)
tE testTransaction_1¢) (0.000 s)
tEl testTransaction_2() (0.000 s)

-getlLogsTest



Runs  1/1 B Errors. 0 8 Failures. 0
.

v ti] GetlogsTest [Runner: JUnit 5] (0.000 s)
te] testGetLogs() (0.000 s)

-showLogsTest

Runs. 1/1 B Errors. 0 8 Failures. 0
.

~ G ShowlLogsTest [Runner: JUnit 5] (0.000 s)
¢£] testShowLogs() (0.000 s)

Activity 2063. System Testing
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